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2Plafluér / SCIENCE
( Tamil & English Versions )

Cryb : 2 %Lnebbﬂ ] . : [ Qurss wHLGUETSeT : 100
Time Allowed : 2 5 Hours ] o [ Maximum Marks : 100

u@d - I/ PART -1
(dluQuesoraetr : 20 x 1 =20) / (Marks : 20 x 1 = 20 )

efiy /NB: 1) Soarsg alamssaseh el ualésa.
& Answer all the questions.

) esfurer oL ows Carpsdss awss.
Choose and write the correct answer.

.iji) GuQare alamalpen 4@ G L.
Each question carries one mark.

1. Generadfler Quasn updlu Ceterflsr Gpeamd elddler wh@orE Guw

a) sremnsdlar i b) ugiysefler allg)

c) shpiuregseafear ald - d) Osreoeaseia ald.
Kepler's Second Law of planetary motion is also called

a law of period b) law of areas

c) law of orbits d) law of distances.

2. pf ueflsaiqurs o epybGurs

a Geuliud 2 U seuyliu@b b)  Qeuluid Qeueflii_tiL@id
c) OQeautudeoe 2 wwmb P d) G\mﬂu@ma; SODYD.
When water éolidl_ﬂes to ice .

_ a  heatis aﬁsorbed b}  heat is released
c) _ temperature increases d  temperature decreases.

[ Turn over



3825

2
Gautu alifle sflewre e aoguL@eag)
a) 2 Carsb A b) &yeud
c) ey ' d) 2 Corad seeel.
Due to heat more expansion is felt in ' ;
a) metal b) liquid
c) gas d) alloy.
gng:GB‘GTI_GLII‘j)gS]éd 2185 se1Glaulil qg)qggﬂm@mﬁ Q&regor. QuTmel
a) urgysd Siguifleoiwid
c)  eorO\ewoIeseT e oot d] B
Which of the following has maximum specific heat capacity ?
a) Mercury ; b) Aluminium
c) Kerosene d) Water.

oeursdle wrp Hleesd Camembd.
The critical angle of diamond is ' .
a 244 b) 42-4°

c 344 d 24.8.

apdly Shpere Sesr .legbmeorras u:rr{g@sugj -

a) @duEss ~b)  eowsGryrGumes
c Dereupd d) CGumlLmf,
Mechanical energy is converted into electrical energy in a

a) loudspeaker b) microphone

c) generator ; ; d) motor.

X-s3 Qssr aufiGu ear@palls Clecers

a) &Iy b) wyb

c) so& d) erguby.

X-rays cannot pass through

a) glass ' b) wood

o flesh e d) bone.

aleaer Coussdet S0G ' '

a) Guré.ed. ! b) Guré.ed. ! al!
¢ Guré.dl.al! d &8.Guoré l.all -l
The unit of the rate of the reaction is |

a molLL™! b) molL!s!

. ¢ molL.s! _ d L.molls-l.
rilé smLaurethiseT Qe LLSTUED oo 2-Carss Haamal
a) LREILET e b) pé&se Gl'ooo@'

) LTASEE oo : d) &damren aco®.
Which alloy steel is used for makjng railway tracks ?
8  Tungsten steel - b)  Nickel steel

€)  Manganese steel d)  silicon steel.



10.

T}:

12.

13.

14.

15.

16.

17.

CamLm ambue eredTUg

Soda ash is

d Na,CO,.l0H,O b Na,co,

¢ Na HCO d Na,co, .H,oO.
Qepleydle Camguwib @(szrrremlj‘(g STeBILG) T :

a e Lypr b) &pdaeaHp Bir

¢ <L Geryuwd gBetrey@ d) easdeféaiul L B,
Concentrated solution of sodium chloride is called

a) saline water b) sterilized water
c)  brine = d) mineral water.
gLt ercliaugaisSld o ereng)

The sulphur exists as

a S | - b S,

J s, d s

SlGemall auTeny Ggrr;n@sﬁ]uug;

a wreenrssTd alurd b) smepm

c) OLig srhésé d) wCaflur.
Flavivirus causes -

a) filariasis i b) cholera

c¢) dengue fever d) malaria.

24, &elggedt @mwrrg Bleawld peoL Qupib saurélsse

a) &mho seuTed b) srhHpleer seursd
o pyrell CGurés d) ﬁﬁ‘&ﬁeﬂm
Respiration in the absence of oxygen is - '

‘a) aerobic respiration b) anacrobic respiration
c) transpiration ~d} guttation.
uréeflurCus) ereTug
a) urseflub . b) eeuyey
o yGymGLrGsmeur d uyeos.
Bacteriophage is a '

a) Dbacterium ' b) virus -
c) protozoa ; d) fungus. :
@uc&arcouﬂs&r @eoralpsd srasdle ghudd app Qeudsarea sre GUEEe g
@ :
% @maﬁl@gé\ &1phHél b) wrgadimb &'rkptj)é]
&re &ohsl d) euenié8lé smend.

The cyclic events that take place in a rhythmic fashion during the reproductive
period of a woman's life is

a) reproductive cycle . b) menstrual cycle
c). rhythmic cycle d) growth period.
Qeuddle sEUYSS S Lb aatug ' :
a CpruuQurg@st - b)) Cpru adFQurmer
o sEuLS d) @byt gCemmiesr.
Active immunization is known as '

- a antigen . : b) antibody

c) vaccination d) immunoglobin.
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18. Gsélu SuiiCGeug sipsb MLl Berer G

a Oy b) Os&resssT
- ¢) QLévedl d grerél.
National Institute of Ayurveda is in
a Jaipur b) Kolkata
c) Delhi d) Jhansi.
19. 2 o6 Qalubrgame ghussd Qurmer
a) erfub ' b) erruet CurearTéansL
C) BTN s d gsereer Gurenp QU@L Sel.
Global warming is caused by ] :
a) lead b) carbon monoxide
c) nitrogen oxides d) particulate matter.
20. shs Nl 2 eier eveuL bledr :
a) eeu L et B _ b) emeuLleér C
c) eeulLbler A d) eveulLibler D.
Vitamin found in ‘Golden Rice’ is
a). Vitamin B b) Vitamin C
¢) Vitamin A _ d) Vitamin D.

u@g - II / PART - II
(wiQuesorast : 10x 1 =10) / (Marks : 10 x 1 = 10)

efliy /INB: 1) Seoampy damssaseb alorwuslisaayb.
Answer all the questions.

i) galarg olaralped o LU
‘Each question carries one mark. e

) efloLsd g6 Qsréd ooy o Cerpsad oz

g(ilb auflfle @\mossr Couaso@id.
swer should be in a word or in few words or in one line.

21. Guemeler weeTlLGS) Lﬂmgbg SIOLULTES STETTULRUSET STyemID ererer ?
Tip of the nip of a pen is split. Give reason. '
22. o8& .'@qum RILLSSSTE BID YWsssos e aGHCpror Sdeg @eliféslou i
2_eoi S Gpmom ?
Due to more relative humidity do we feel sultry or cool ?

23. dlerapny Spuurarsefler Lwet wrg ?

What is the use of circuit breakers ? :
24. pexfluures erestpmed eresre 7

What is moderator ?

25. Uderallomanse o6 ThE855TLE 5BS.
Write an example for reversible reaction,



26.

27.

28.

29.

30.

31.

32.

33.

34.

5 - 3825

gullesr ol eredim) S P&ELILGOIG a2

Which is called as the enemy of fire ?

LT from éolg > an L et yibGuor e alleoaryflie feoLseb afivsd Cervsdar Quurr
eTedTenT 7 : '

Name the organic compound obtained when formaldehyde reacts with ammonia.
G‘zumﬂﬁaﬂe‘&r arestp erglt 2 Wifleows sl gseut wr 2 ,

Who discovered the antibiotic penicillin ? :

Qe 2 Wiflsel Bmhe Qubp apevsGlscsar qst'nscr@eﬁsﬁ‘rggj SO P&SLILHSIDE -
What are embryonic stem cell termed as ? |

Gl sueaul umeéru@i:‘o_ fpuy Hreuseos 2 LOequsghd Fouf GYTiL&sE ereter

Quuwr 2
Name the plastic tube used to flush the abdominal cavity.

- uG$ - I / PART - III
(0AQuemaer : 15x 2 = 30) / ( Marks : 15 x 2 = 30

efliy /NB: ) aoaGuaid 15 allerrésarshe aloLualsaab.
Answer any fifteen questions.

i) @doare alaralped Qrand wiiOuaser.
Each question carries two marks.

i) elem actrset 32 whnid 38 2 FweupPibe wresrey, wreradu
saongiurs ol weflss Coucm@o. @euallyesor® eflerréaenn
afleuug Qsfedbe ( Option ) 2 LuLmrg.

Sturlents should answer the Question Nos. 32 and 38
compulsorily. These two questions are not included in the
option.

Byl eflesr Qurg Fitiiy elfows sape.
Give the Newton'’s universal law of gravitation.

6 Cuadu Qeerde ©alusCsTons 40 Gz .1 aafld eise Qrps&r wrs) 2

A thin lens has a focal length 40 cm. What is its power ?
B0 2a1_sideé vrpHoes Carewisens eusrup).

Define critical angle of a medium. -

ot FECanssss® aadrug wrg 7

What is bimetallic strip ?
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- 35.

36.

37.

38.

6
SWEHSE FOLWS sovafleT BSSleubd WTE ?
Give the prlnciplé of- the pressure cooker.
Leve BersnsSlest HHUTH ST WTeme 2
What are the advantages of dry cell ?
X-gdMletn m@&ému uweTeet G@DUIGS.
Give the medical applications of X-rays.
0-01 Guré.ed ~! Qeley QaramL Cemgud @apljréoaE soreeler pH wgliy

* grebrent ?

39.

40.

41.

42.

43.

44,

45.

46.

What is the pH of an aqueous solution of sodium hydroxide having a
concentration 0-01 mol.L~! ? _ ;
saoraTbuses X2 L Cethg @O Celwiuc® HOwe 2 Baurdps. wHODT®
Qur el y §lQuweo. Qe gILGson SO @&mﬂsp@. X whoId Y eredrest ?

When limestone is strongly heated with a substance x, it forms cement. Another
substance y is then added to retard the initial setting of cement. What are x and
y?

Fev@ebETEl ey Sifle SeTe| BTSS sélyfs flesg s elloayfaang ?
Caud) aleverseflu swsUTL L LSS

How does bleaching powder react with excess of dilute sulphuric acid ? Give the
equation for the reaction involved. '
Sflaiiugdler sTgessT wTema 2

List out the ores of Aluminium.

2 Carassnaeal TEIPTE T&TaT ? TRSFHSTLH HBS.
What is an alloy ? Give example.
eV JT&sD aep QerhOprLey aleré@s.

Explain the term ‘esterification’.

p&du alloarsCaTEd adpTe areTe 2

What is meant by functional group ?
@rss euhidl aeTpTé eTaen ?

What is a blood bank ?

e wrHPD eTeTPTE eresTeT 7

What is mutation ?



47.

48.
49.
" 50.
51.

52.

53.

54.

55.

56.

Yl QurPlllue eradTpTey ereTen 2

What is genetic engineering ? :
iy aflosillsr SwloLl ULb arhs LTERSTS G
Draw a labelled diagram of bean seed. |

LT eailL 6558 Gopur® Crriser wrene 7

Mention the protein deficiency diseases.

‘Lwreflflev’ ereiTpmed eredradt ?

What is dialysis ? |

Siflev wenyp ereliouy 2 Beurdps) 2

How is acid rain formed ?

2 Wflu 2 griser uDH eraps.

Write about bio-fertilizers.

u@3! - IV / PART - IV
[w@ﬁ@u@‘m&mﬁ:8><5=40}I/(Mark_s:8><5=40)

efliy /NB: ) gaQare Alaflelghas copbss Gy
' allarssmenuraig QsflaCsug GQurssh ar.@ Nerrss@nse
afle_weflésay. LU
Answer eight questions by choosing at least two questions
from each Group. :

i) gdlanre ofemralpebd pbs LG LGTsS.
Each question carries five marks.

i) CoemeuiL@bD @) fisefc ULD euemys.
Draw diagrams wherever necessary.

Jfle) - & / GROUP - A

QuirenTell Coppsdler LuSTUTRS6T Wrena 2
Explain the applications of Bernoulli’s theorem.

seoemTgl urergdle gall oleasmssrar siulb uey. &aoremrmiguller
poflalloss srenid wopow alases. :
Draw the path of light ray inside a glass slab and describe the method of
determining the refractive index of glass.

Bleorsmhshisefsr Lesyseaenyb LHDIb LweTseTyD aSeuf.

Explain the properties and uses of electromagnets.

X-58lt o Boursbssos ssa0ussL e el

Write with the principle, on the production of X-rays.
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57.

8

Ufle; - gL / GROUP - B

QUOTWNI&HS :

) Gadaloatia Gousb

1) Bher suelliQuEHSd

58.

59.

60.
61.
62.
63.

64.

i) Qeerfl Nyretevl SflessTys QaTaiasmu a@FUY.
Define the following :

i Rate of chemical réaction

#j Ionic product of water

i) Lowry-Bronsted concept of acids and bases.

gGsed 5 LeTISHETS Qaram@® 2 Caran SCarahaefledr L@ @tnlﬂl':@

Caupu®dsgs.
Write any 5 differences between metals and non-metals.

Gesteumid Geirohisefles umituT® whHpid IUPAC QuuitseTs apis.

) yGprleoud 2esaDTE i) Surdé siflesd i) S Cumedr
iv) ofLLregoan®@ v) Seose %éuagpr@. '

Give the formulae and IUPAC names of the following :

i) Propyl alcohol ) Formic acid - i) Acetone

iv) Acetaldehyde v) Methyl alcohol.

Yfey - € / GROUP - C
QusESus e ureler GeaiQuEsan UHH adleurl.
Describe the asexual reproduction in penicillium.
2 A uLgdleh FememTUL e euTl g6 HDID Sifis 1§ Tt wrdfleow aflaf.
Explain Watson and Crick model of DNA with the help of a diagram.
GVes e Gs Carbplub aeybsl Urhiseer efeufl.
Describe the L.S. of ovule with diagram.
wewit Gaafliy peopsmen alefl.
Describe the methods of Rainwater Harvesting.
DT 2-TETEGsele aeflu (perpow alen&@s.
Explain a simple method of vermicomposting.




